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Exam Name Punjab Police Constable in District Police Cadre 5th
Aug to 14th Sep 2023

Application

No

Roll No

Applicant

Name

Exam Date  [11/09/2023

Shift 2:00 PM - 5:00 PM

Subject Constable in District Police Cadre Paper | and Paper Il

Section : General Awareness

Q.1 The number of polluted stretches in India’s rivers has fallen from 351 in 2018 to
in 2022, according to a report published by the Central Pollution Control
Board (CPCB) in 2022.

Ans 1.344
o 2. 311

3.333

4.322

Question ID : 630680262484
Option 1 ID : 6306801019578
Option 2 ID : 6306801019575
Option 3 ID : 6306801019577
Option 4 ID : 6306801019576
Status : Answered
Chosen Option : 1

Q.2 When did Gujarat and Maharashtra adopt the system of elected local bodies?
Ans 1. Around 1950

«" 2. Around 1960
3. Around 1970
4. Around 1980

Question ID : 630680266345
Option 1 ID : 6306801034831
Option 2 ID : 6306801034832
Option 3 ID : 6306801034834
Option 4 ID : 6306801034833
Status : Answered
Chosen Option : 3
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Q.3 As per the census 2011, what was the approximate population of Hindus in Punjab
state?

Ans 1. 1.55 crore
2.1.99 crore
«” 3. 1.07 crore

4.1.67 crore

Question ID : 630680320489
Option 1 ID : 6306801246849
Option 2 ID : 6306801246852
Option 3 ID : 6306801246851
Option 4 ID : 6306801246850
Status : Answered
Chosen Option : 4

Q.4 Who appoints the pro-tem speaker of the Lok Sabha?
Ans 1. Prime Minister

2. Speaker
3. Secretary General of Lok Sabha
" 4. President

Question ID : 630680267494
Option 1 ID : 6306801039351
Option 2 ID : 6306801039352
Option 3 ID : 6306801039353
Option 4 ID : 6306801039354
Status : Answered
Chosen Option : 1

Q.5 In which year was the ‘Prevention of Insults to National Honour Act’ passed?
Ans 1.1973

2.1975
o 3. 1971
4.1972

Question ID : 63068090766
Option 1 ID : 630680351840
Option 2 ID : 630680351841
Option 3 ID : 630680351838
Option 4 ID : 630680351839
Status : Answered
Chosen Option : 1

Q.6 CNG (Compressed Natural Gas) contains:
Ans 1. propane

2. hexane
«” 3. methane

4. butane

Question ID : 63068056791
Option 1 ID : 630680219100
Option 2 ID : 630680219098
Option 3 ID : 630680219099
Option 4 ID : 630680219101
Status : Answered
Chosen Option : 3
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Q.7 Which of the following missions of the ISRO successfully underwent the EMI-EMC
(Electro-Magnetic Interference and Electro-Magnetic Compatibility) test in January-
February 20237

Ans  # 1. Chandrayaan-lll
2. Gaganyaan
3. Mangalyaan-II
4. Aditya-I

Question ID : 630680262458
Option 1 ID : 6306801019473
Option 2 ID : 6306801019471
Option 3 ID : 6306801019474
Option 4 ID : 6306801019472
Status : Answered
Chosen Option : 1

Q.8 Sri Guru Ram Dass Jee International Airport is located in which of the following cities
of Punjab?

Ans 1. Chandigarh
«" 2. Amritsar
3. Ludhiana
4. Pathankot

Question ID : 630680320497
Option 1 ID : 6306801246882
Option 2 ID : 6306801246881
Option 3 ID : 6306801246883
Option 4 ID : 6306801246884
Status : Answered
Chosen Option : 2

Q9 HfgZ 3 T feam H3amsT 2022 &9 € dTg Tar AlGHI AdH Bg 9d faar I =
Yfgst g8 FIuitei HellH (CPS) Hll &8 HallH 21 &1 ot J?

Ans 1. fimis ufged
2. fvms Huar

3. fHI® Wifg3e
o 4. THHE T3AZw

Question ID : 630680170412
Option 1 ID : 630680660241
Option 2 ID : 630680660242
Option 3 ID : 630680660244
Option 4 ID : 630680660243
Status : Answered
Chosen Option : 3
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Q.10 As announced in the month of January 2023, how much budget has been earmarked
for the Schools of Eminence Project of the Punjab government?

Ans 1. Rs 500 crore
w” 2. Rs 200 crore

3. Rs 400 crore

4. Rs 300 crore

Question ID : 630680320493
Option 1 ID : 6306801246868
Option 2 ID : 6306801246865
Option 3 ID : 6306801246867
Option 4 ID : 6306801246866
Status : Answered
Chosen Option : 4

\ J

Q.11 In which of the following years Parkash Singh Badal became the Chief Minister of
Punjab for the first time?

Ans 1. 1985
2.1975

«" 3.1970
4.1980

Question ID : 630680320487
Option 1 ID : 6306801246844
Option 2 ID : 6306801246842
Option 3 ID : 6306801246841
Option 4 ID : 6306801246843
Status : Answered
Chosen Option : 3

Q.12 What are the two sub-schemes of Mission Shakti launched by the Ministry of Women
and Child Development as an integrated scheme for women’s safety?

Ans  # 1. Sambal and Samarthya
2. Samarthya and Suraksha
3. Suraksha and Shakti
4. Suraksha and Sambal

Question ID : 630680170409
Option 1 ID : 630680660229
Option 2 ID : 630680660232
Option 3 ID : 630680660230
Option 4 ID : 630680660231
Status : Answered
Chosen Option : 2
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past?
Ans 1. VP Menon

«# 2. Sir lvor Jennings
3. RC Dutt
4. Will Durant

Q.13 Who among the following said that the Indian Constitution is largely a legacy of the

Question ID : 63068059622
Option 1 ID : 630680230059
Option 2 ID : 630680230061
Option 3 ID : 630680230060
Option 4 ID : 630680230058
Status : Answered
Chosen Option : 3
Q.14 Under which of the following Articles of the constitution is it mentioned that “the
question whether any, and if so what, advice was tendered by Ministers to the
Governor shall not be inquired into in any court”?
Ans 1. 171
2. 164
3. 172
o 4. 163
Question ID : 63068089669
Option 1 ID : 630680347452
Option 2 ID : 630680347451
Option 3 ID : 630680347453
Option 4 ID : 630680347450
Status : Answered
Chosen Option : 3
Q.15 The Fit India Movement was launched on with a view to make fitness an
integral part of our daily lives.
Ans 1. 29 August 2018
2. 29 August 2020
w” 3. 29 August 2019
4. 29 August 2017
Question ID : 63068053609
Option 1 ID : 630680206499
Option 2 ID : 630680206501
Option 3 ID : 630680206500
Option 4 ID : 630680206498
Status : Answered
Chosen Option : 4
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Q.16 UATg AJT T ‘HIS MTecd aMd IH HeIH’ (State After Care Home scheme) MU,
a"]@laHaarémug &9 fam Afaa fEg vfswit Bt mirgeg Sd I’ (After Care Home ) HETUS
961

Ans 1. UST&AS
2. "ifzAd
o 3. BT

4. A8Ud

Question ID : 630680320494
Option 1 ID : 6306801246872
Option 2 ID : 6306801246870
Option 3 ID : 6306801246869
Option 4 ID : 6306801246871
Status : Answered
Chosen Option : 4

\

Q.17 Which of the following state governments approved its sports policy in March 2023?
Ans 1. Punjab

2. Bihar
3. Madhya Pradesh
«” 4. Uttar Pradesh

Question ID : 630680265746
Option 1 ID : 6306801032454
Option 2 ID : 6306801032452
Option 3 ID : 6306801032453
Option 4 ID : 6306801032451
Status : Answered
Chosen Option : 4

Q.18 The Central Council of Local Self -Government was constituted in the year:
Ans 1. 1965

o 2. 1954
3.1971
4.1947

Question ID : 63068051204
Option 1 ID : 630680197084
Option 2 ID : 630680197082
Option 3 ID : 630680197085
Option 4 ID : 630680197083
Status : Answered
Chosen Option : 2
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Q.19 Who has the power to divide the areal/areas inhabited by different Scheduled Tribes in
an autonomous district?

Ans 1. Deputy Chairman
2. Speaker
3. Chief Minister
«" 4. Governor

Question ID : 630680152669
Option 1 ID : 630680590671
Option 2 ID : 630680590670
Option 3 ID : 630680590668
Option 4 ID : 630680590669
Status : Answered
Chosen Option : 1

Q.20 Who among the following has been awarded with the PM Rashtriya Bal Puruskar in
January 2023, for developing a unique technology named ‘MICROPA’, to detect and
filter micro-plastics from drinking water?

Ans 1. Aadithya Suresh
2. Anoushka Jolly
" 3. Aditya Pratap Singh Chauhan

4. Hanaya Nisar

Question ID : 630680267862
Option 1 ID : 6306801040818
Option 2 ID : 6306801040816
Option 3 ID : 6306801040817
Option 4 ID : 6306801040815
Status : Answered
Chosen Option : 3

Q.21 According to the 2011 Census of India, the total population of Punjab has increased
from 2001 to 2011 is

Ans o 1.1389%
2.12.89%
3.15.89%
4.14.89%

Question ID : 630680320492
Option 1 ID : 6306801246862
Option 2 ID : 6306801246861
Option 3 ID : 6306801246864
Option 4 ID : 6306801246863
Status : Answered
Chosen Option : 3
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Q.22 How many nanosatellites were launched into two SSPOs along with EOS-06 satellite
with ISRO’s PSLV-C54 on 26 November 20227

Ans 1. Nine
2. Six
«” 3. Eight

4. Seven

Question ID : 630680200219
Option 1 ID : 630680776302
Option 2 ID : 630680776301
Option 3 ID : 630680776303
Option 4 ID : 630680776300
Status : Answered
Chosen Option : 2

Q.23 In accordance with which of the following Amendment Acts has the Government
launched ‘Investigation Tracking System for Sexual Offences’ to monitor and track-
bound investigation in sexual assault cases?

Ans 1. The Criminal Law Amendment Act 2010
2. The Criminal Law Amendment Act 2013
3. The Criminal Law Amendment Act 2015

" 4. The Criminal Law Amendment Act 2018

Question ID : 630680267841
Option 1 ID : 6306801040734
Option 2 ID : 6306801040732
Option 3 ID : 6306801040733
Option 4 ID : 6306801040731
Status : Answered
Chosen Option : 3

Q.24 Which Article of the Constitution deals with the administration of union territories?
Ans 1. Article 242

«" 2. Article 239
3. Article 241
4. Article 240

Question ID :
Option 11D :

Option 2 ID :
Option 3 ID
Option 4 ID
Status :

Chosen Option :

63068069284
630680267817
630680267814

: 630680267816
: 630680267815

Answered
3
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Q.25 Fifth Khelo India Youth Games 2022-2023 has been held in which state?
Ans  «# 1. Madhya Pradesh

2. Goa
3. Uttar Pradesh

4. Maharashtra

Question ID : 630680217086
Option 1 ID : 630680842293
Option 2 ID : 630680842291
Option 3 ID : 630680842292
Option 4 ID : 630680842294
Status : Answered
Chosen Option : 4
Q.26 In which year did the Government of India launch the Smart Cities Mission?
Ans 1. 2020
o 2.2015
3.2016
4.2012
Question ID : 63068051495
Option 1 ID : 630680198217
Option 2 ID : 630680198216
Option 3 ID : 630680198214
Option 4 ID : 630680198215
Status : Answered
Chosen Option : 1
Q.27 JIPEIT »ES AigY fonaleys &3 fan nars 3 Afaz 32
Ans 1. fegg
2. Har
5 .
o 4.9
Question ID : 630680320496
Option 1 ID : 6306801246878
Option 2 ID : 6306801246879
Option 3 ID : 6306801246877
Option 4 ID : 6306801246880
Status : Answered
Chosen Option : 1
Q.28 Which type of citizenship is mentioned in the Indian Constitution?
Ans 1. Universal Citizenship
«” 2. Single Citizenship
3. Dual Citizenship
4. Commonwealth Citizenship
Question ID : 630680261088
Option 1 ID : 6306801014111
Option 2 ID : 6306801014113
Option 3 ID : 6306801014112
Option 4 ID : 6306801014114
Status : Answered
Chosen Option : 2
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Q.29 What was the tenure of Sir Evan Meredith Jenkins who held the position of Punjab
Governor?

Ans 1.1935-1938
2.1938-1941

w” 3. 1946-1947

4. 1941-1946

Question ID : 630680320495
Option 1 ID : 6306801246873
Option 2 ID : 6306801246874
Option 3 ID : 6306801246876
Option 4 ID : 6306801246875
Status : Answered
Chosen Option : 4

Q.30 In which of the following years Haryana was constituted as a result of the partition of
the former state of Punjab into two separate states Punjabi-speaking Punjab and
Hindi-speaking Haryana?

Ans 7 1.1966
2.1969
3. 1961
4.1964

Question ID : 630680320498
Option 1 ID : 6306801246887
Option 2 ID : 6306801246888
Option 3 ID : 6306801246885
Option 4 ID : 6306801246886
Status : Answered
Chosen Option : 2

Q.31 In which of the following districts of Punjab, the Punjab International Folk Music and
Dance Festival, 2022 was organized by Ishmeet Singh Music Institute in collaboration
with Punjab Cultural Promotion Council India in November 20227

Ans 1. Malerkotla
" 2. Ludhiana

3. Pathankot

4. Kapurthala

Question ID : 630680320491
Option 1 ID : 6306801246859
Option 2 ID : 6306801246857
Option 3 ID : 6306801246860
Option 4 ID : 6306801246858
Status : Answered
Chosen Option : 2
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Q.32 Who among the following had said at the ‘Ideas of India Summit 2023’ that capitalism
is the greatest market failure, especially in relation to climate change?

Ans  # 1. Amitav Ghosh
2. Rajendra Singh
3. Anadish Pal
4. Pradip Krishan

Question ID : 630680227959
Option 1 ID : 630680884514
Option 2 ID : 630680884513
Option 3 ID : 630680884511
Option 4 ID : 630680884512
Status : Answered
Chosen Option : 2

Q.33 What is the name of a symbolic structure designed by the architect Le Corbusier and
located in the Capitol Complex of the Indian city and union territory of Chandigarh?

Ans  # 1. Open Hand Monument
2. Joint Hand Monument
3. Close Eyes Monument

4. Small Hand Monument

Question ID : 630680320490
Option 1 ID : 6306801246855
Option 2 ID : 6306801246854
Option 3 ID : 6306801246853
Option 4 ID : 6306801246856
Status : Answered
Chosen Option : 2

Q.34 What was the code name given to the army action of June 1984 in the Golden Temple
during the Indira Gandhi regime?

Ans 1. Operation north star
2. Operation blue lagoon
«# 3. Operation blue star

4. Operation red hunt

Question ID : 630680320488
Option 1 ID : 6306801246848
Option 2 ID : 6306801246847
Option 3 ID : 6306801246846
Option 4 ID : 6306801246845
Status : Answered
Chosen Option : 3
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Q.35 Which of the following articles entails with powers, authority and responsibilities of
the Panchayats?

Ans 1. Article 243H
«" 2. Article 243G
3. Article 243l

4. Article 243J

Option 2 ID

Question ID :
Option 11D :

630680215968
630680837848

: 630680837847
Option 31D :
Option 4 ID :

Status :

Chosen Option :

630680837849
630680837850
Answered

1

Section : Quantitative Aptitude and Numerical Skills

Q.36 If the simple interest on %7 for 7 months is %0.77, then the rate percentage per annum

is:
Ans
1.
14 2 %
2. — Yo
7
o 3.
1320
4. — U
7
Question ID : 630680227122
Option 1 ID : 630680881179
Option 2 ID : 630680881181
Option 3 ID : 630680881182
Option 4 ID : 630680881180
Status : Answered
Chosen Option : 3
Q37 o mox vy 1Q) = 3T eF= 31 AE9 X, Y § sum & AEIE fer 3, 7 AF (winning) IRE
fESt g IR oSt I F A x w3 v 3 7 2 EF J3 ugu AEEr
Ans 1.260 m
" 2.210m
3.310 m
4.320 m
Question ID : 630680136394
Option 1 ID : 630680528222
Option 2 ID : 630680528225
Option 3 ID : 630680528224
Option 4 ID : 630680528223
Status : Not Answered
Chosen Option : --
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Q.38 The ratio of capitals invested by three partners in a business is 2 : 3 : 5. The time
period of the investment is the same as the reciprocals of the capitals invested. What
will be the share of the person who invested the lowest if the profit is ¥3,378?

Ans 1.%676
2.3563

3.%1,689

o 4.31,126

Question ID : 630680227105
Option 1 ID : 630680881114
Option 2 ID : 630680881113
Option 3 ID : 630680881112
Option 4 ID : 630680881111
Status : Answered
Chosen Option : 3

Q.39 A thiefis running away on a straight road in car moving with a speed of 12 ms. A

policeman on motorcycle chases him at a speed of 14 ms™. If at any instant the
separation between the car and the motorcycle is 250 m, then in what time (in
seconds) the policeman catches the thief?

Ans 1. 150
2.100

3.175

o 4.125

Question ID : 630680212966
Option 1 ID : 630680825953
Option 2 ID : 630680825951
Option 3 ID : 630680825954
Option 4 ID : 630680825952
Status : Answered
Chosen Option : 4

Q.40 TR Hitp R WS ° 35% 3 T T 73 HS HDT {UB R 20% © W T N33 44 I YS
Hitp &t 2
Ans 1.75
2.85
3.70

o 4. 80

Question ID : 630680212942
Option 1 ID : 630680825856
Option 2 ID : 630680825858
Option 3 ID : 630680825855
Option 4 ID : 630680825857
Status : Answered
Chosen Option : 1
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Q.41 In a circular race of 1200m, A and B start from the same point and at the same time
with speeds of 27km/h and 45km/h, respectively. When will they meet again for the first
time on the track,if they are running in the same direction?

Ans  # 1.240 seconds
2. 120 Seconds
3. 180 seconds

4. 60 seconds

Question ID : 63068068382
Option 1 ID : 630680264237
Option 2 ID : 630680264235
Option 3 ID : 630680264236
Option 4 ID : 630680264234
Status : Answered
Chosen Option : 1

Q.42 The average of 5 numbers is 18. What should be the 61" number to be added to them to
make the average 19?

Ans #1.24
2.31
3.51
4.41

Question ID : 630680138519
Option 1 ID : 630680536268
Option 2 ID : 630680536267
Option 3 ID : 630680536269
Option 4 ID : 630680536266
Status : Answered
Chosen Option : 1

Q.43 The smallest positive integer p, for which 1024 x p is a perfect cube is:
Ans 1.2

2.8
3.6
4.4

Question ID : 630680112227
Option 1 ID : 630680434634
Option 2 ID : 630680434637
Option 3 ID : 630680434636
Option 4 ID : 630680434635
Status : Answered
Chosen Option : 2
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Q.44 3§ 20 feat fEg i o1 yar 99 Aawt I w3 Hig 25 fewt f&g o Yar a9 Aawl I Adg
g 73 Tiig gEs< feat 13, dts 3 5g 99 I8 oH A% Ts, 31 oM fda fest g yar
éléall?

A
" 1. 22;

1

2.11-
9

3. a9 L
4

2

4. 11-=
L1

Question ID : 630680267460
Option 1 ID : 6306801039218
Option 2 ID : 6306801039217
Option 3 ID : 6306801039216
Option 4 ID : 6306801039215
Status : Answered
Chosen Option : 2

Q.45 From the salary of an officer, 20% is deducted as house rent, 20% of the rest he
spends on conveyance, 20% of the rest he pays as income tax, and 10% of the balance
he spends on clothes. Then he is left with ¥13,824. Find his total salary.

Ans 1,743,000
2.%50,000

3. 345,000

o 4.%30,000

Question ID : 630680145525
Option 1 ID : 630680563076
Option 2 ID : 630680563075
Option 3 ID : 630680563074
Option 4 ID : 630680563077
Status : Answered
Chosen Option : 4

Q.46 56 men can complete a piece of work in 24 days. In how many days can 42 men
complete the same piece of work?

Ans 1. 31 days
" 2. 32 days

3. 33 days

4. 30 days

Question ID : 630680135908
Option 1 ID : 630680526339
Option 2 ID : 630680526340
Option 3 ID : 630680526341
Option 4 ID : 630680526338
Status : Not Answered

Chosen Option : --
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Q.47 3 i 2
; : : ET g
Which of the following is equal to 15 + =— — 147
Ay
Ans 1
i 1
2. —
3
o 3.
4.
Question ID : 630680131167
Option 1 ID : 630680507934
Option 2 ID : 630680507937
Option 3 ID : 630680507936
Option 4 ID : 630680507935
Status : Not Answered
Chosen Option : --
Q.48 A shopkeeper earns a profit of 24% on selling a mobile phone at 20% discount on the
marked price. The ratio between the cost price and the marked price of the mobile
phone is:
Ans 1.20: 21
2.21:20
3.31:20
W 4.20: 31
Question ID : 630680263591
Option 1 ID : 6306801024006
Option 2 ID : 6306801024005
Option 3 ID : 6306801024004
Option 4 ID : 6306801024003
Status : Not Answered
Chosen Option : --



https://dailyjobalert.in/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.49 Study the given line-graph and answer the question that follows.
The line-graph shows the number of students (in thousands) in three schools P, Q, R
over the years from 2003 to 2006.

The total number of students in school Q and school R together in the year 2004 was
approximately what percentage of the total number of students in school Q and school
R together in the year 2006?

: 630680268671

Ans 1. 116%
2.90%
3.75%
o 4.86%
Question ID
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

6306801043998
6306801043995
6306801043996
6306801043997
Not Answered

Q.50 A dealer professes to sell his good at low cost price but he uses a false weight of 975
grams for a kilogram. The gain percentage of the dealer is:

Ans a
1 2—=%

39

19

2. 1—%

39

11
3. 2—%

39

22
-0
o 4 Zagﬁm

Option 1 ID

Status

Question ID :
: 630680559841
Option 2 ID :
Option 31D :
Option 4 ID :
: Not Answered
Chosen Option :

630680144699
630680559839

630680559838
630680559840
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Q.51 If the wages of 15 workers for 6 days are 9,450, then find the wages of 19 workers for
5 days.

Ans 1.%8,900
o 2.39,975
3.28,975

4.%9,900

Question ID : 630680263602
Option 1 ID : 6306801024050
Option 2 ID : 6306801024047
Option 3 ID : 6306801024048
Option 4 ID : 6306801024049
Status : Not Answered
Chosen Option : --

Q.52 What is the value of the following expression?
7[24+2{8+9-(12+3+7)}]+9

Ans 1.512
2.511

" 3.513

4.567

Question ID : 630680116275
Option 1 ID : 630680450420
Option 2 ID : 630680450421
Option 3 ID : 630680450419
Option 4 ID : 630680450418
Status : Not Answered

Chosen Option : --

Q.53 In a class, there are 60 students and their average marks in the annual examination are
39. If the average marks of the passed students are 60 and the average marks of the
failed students are 25, then find the number of students who failed the examination

Ans 1.38
2.39

o 3.36
4.37

Question ID : 630680139431
Option 1 ID : 630680539800
Option 2 ID : 630680539801
Option 3 ID : 630680539798
Option 4 ID : 630680539799
Status : Not Answered

Chosen Option : --



https://dailyjobalert.in/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.54 A shopkeeper sells a badminton racket, whose marked price is ¥50, at a discount of
20%. He gives a shuttlecock costing ¥2.50 free with each racket. Even then, he makes
a profit of 50%. What is the cost price per racket?

Ans 1.%27.50
2.335
3.328
o 4.325

Question ID : 630680268315
Option 1 ID : 6306801042614
Option 2 ID : 6306801042611
Option 3 ID : 6306801042613
Option 4 ID : 6306801042612
Status : Not Answered
Chosen Option : --

L

Q.55 In order to avoid sale on credit basis, a shop keeper announces a cash discount of 5%
along with a discount of 3% to attract more customers. One of the customers
purchases a clock and makes cash payment. If the marked price of the clock is ¥950,
then how much amount the customer has to pay for it? (Answer be given in the
nearest ¥ only)

Ans 4 3807
2. 3815

3. I820
&4 ZBTS

Question ID : 630680131204
Option 1 ID : 630680508083
Option 2 ID : 630680508085
Option 3 ID : 630680508084
Option 4 ID : 630680508082
Status : Not Answered

Chosen Option : --

Section : Mental Ability & Logical Reasoning

Q.56 What should come in place of the question mark (?) in the given series in order to
make it logically complete?
A-B-81, E-F-49, ?, M-N-9, Q-R-1

Ans  # 1.1-J-25
2. G-H-25
3.1-J-18
4. G-H-18

Question ID : 630680111728
Option 1 ID : 630680432648
Option 2 ID : 630680432649
Option 3 ID : 630680432646
Option 4 ID : 630680432647
Status : Not Answered

Chosen Option : --



https://dailyjobalert.in/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.57 Which of the following letter-clusters can replace the question mark (?) in the given

series to make it logically complete?
NVZ, WNC, FFF, ?, XPL

Ans 1. 1XO
2. LMP

3. XYO

o 4. OXI

Question ID :

Option 1 ID

Status

: 630680817670
Option 21D :
Option 31D :
Option 4 ID :
: Not Answered
Chosen Option :

630680210877
630680817667

630680817669
630680817668

Q.58 In a certain code language,
Y + B means ‘Y is the husband of B’,
Y — B means ‘Y is the mother of B’,
Y x B means ‘Y is the father of B’,
Y @ B means ‘Y is the daughter of B’.
IfO @A+ K-C, then how is K related to O?

Ans 1. Mother’s sister
" 2. Mother
3. Sister

4. Mother’s mother

Question ID : 630680213104
Option 1 ID : 630680826464
Option 2 ID : 630680826463
Option 3 ID : 630680826465
Option 4 ID : 630680826466
Status : Answered
Chosen Option : 2
Q.59 Five friends A, B, C, D and E live on different floors of the same building. The floors
are numbered 1 to 5, floor number 1 being the bottommost floor, floor number 2 being
one floor above floor number 1, and so on. A lives immediately above B and
immediately below C. E lives on floor number 1. A does not live on an even-numbered
floor.
On which floor does A live?
Ans 1. ond
2.5
3.4t
o 4.3
Question ID : 630680274616
Option 1 ID : 6306801066978
Option 2 ID : 6306801066975
Option 3 ID : 6306801066976
Option 4 ID : 6306801066977
Status : Answered
Chosen Option : 4
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Q.60 What should come in place of ‘?’ in the given series in order to make it logically

complete?
N144A, R169D, V196H, ?
Ans  # 1.Z225M
2. A215L
3. A225M
4. 72251
Question ID : 630680182363
Option 11D : 630680706641
Option 2 ID : 630680706639
Option 3 ID : 630680706640
Option 4 ID : 630680706638
Status : Answered
Chosen Option : 1
Q.61 A, S, D, F, G and H are six participants who wrote an entrance exam for ‘XYZ’
university. Each of them scored different marks on that exam. S scored more than A
and D. G scored more than F. D scored more than only one participant. G scored more
than S but less than H. F scored more than D. Which participants among the six
scored the second highest?
Ans 1.F
2.H
" 3.G
4.D
Question ID : 630680262028
Option 1 ID : 6306801017762
Option 2 ID : 6306801017760
Option 3 ID : 6306801017761
Option 4 ID : 6306801017759
Status : Answered
Chosen Option : 3
Q.62 Select the combination of letters that when sequentially placed in the blanks of the
given series will logically complete the series.
E_FG_EFF_H_FF_H
Ans 1. FHGEG
2. FHHGF
3. EFHEG
4. GEGHF
Question ID : 630680187254
Option 1 1D : 630680725967
Option 2 ID : 630680725966
Option 3 ID : 630680725965
Option 4 ID : 630680725968
Status : Answered
Chosen Option : 1
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Q.63 H, K, M, P, W and Y scored different marks in an entrance exam. M scored more than K
but less than both H and W. P scored more than both M and H but less than W. W did
not score the highest marks. Who amongst the following scored the third-lowest
marks?

Ans 1.K
2.M
3.P

o 4.H

Question ID : 630680164147
Option 1 ID : 630680635721
Option 2 ID : 630680635720
Option 3 ID : 630680635723
Option 4 ID : 630680635722
Status : Answered
Chosen Option : 4

Q.64 In a certain code language,
‘A # B’ means ‘A is the Brother of B’
‘A @ B’ means ‘A is the daughter of B’
‘A & B’ means ‘A is the husband of B’
‘A % B’ means ‘A is the wife of B’
FPEW@T&Q@J %Y’ then howis Y related to T?

Ans 1. Son
2. Wife’s brother
3. Husband’s father
«” 4. Wife’s father

Question ID : 630680209473
Option 1 ID : 630680812061
Option 2 ID : 630680812060
Option 3 ID : 630680812059
Option 4 ID : 630680812062
Status : Answered
Chosen Option : 4

L J

Q.65 Seven girls, |, X, N, K, J, O and R are sitting around a circular table, facing the centre.
R sits third to the left of J. X is an immediate neighbour of both K and R. J is an
immediate neighbour of both | and N. | is an immediate neighbour of both K and J.
Who sits to the immediate right of K?

Ans 1. X
2.1
3.R
4.N

Question ID : 630680262425
Option 1 ID : 6306801019339
Option 2 ID : 6306801019341
Option 3 ID : 6306801019342
Option 4 ID : 6306801019340
Status : Answered
Chosen Option : 2
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Q.66 Select the number from among the given options that can replace the question mark
(?) in the following series.
9,9,12, 60, ?, 603

Ans 1.121
o 2. 67

3.63

4.89

Question ID : 630680261914
Option 1 ID : 6306801017312
Option 2 ID : 6306801017313
Option 3 ID : 6306801017314
Option 4 ID : 6306801017311
Status : Answered
Chosen Option : 1

Q.67 Deepak ranks 15t from the top in a class of 56 students. What is Deepak’s rank from
the last?

Ans g1 42
2. 43"
3.41%
4. 44"

Question ID : 630680262433
Option 1 ID : 6306801019373
Option 2 ID : 6306801019371
Option 3 ID : 6306801019372
Option 4 ID : 6306801019374
Status : Answered
Chosen Option : 3

Q.68 Which of the following numbers will replace the question mark (?) in the given series?
137,131, 143, 125, ?, 119

Ans 1. 147
2.144

o 3. 149

4.141

Question ID : 630680216632
Option 1 ID : 630680840492
Option 2 ID : 630680840494
Option 3 ID : 630680840493
Option 4 ID : 630680840491
Status : Not Answered

Chosen Option : --
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Q.69 This question has three statements followed by two conclusions numbered | and II.
You have to take the given statements to be true even if they seem to be at variance
from the commonly known facts. You have to decide which conclusion/s logically
follow/s from the given statements.

Statements: Some winds are breeze. Some winds are air. All breeze is cold.
Conclusion: (I) Some cold are winds.
Conclusion: (Il) Some airs are winds.

Ans 1. Only Conclusion (ll) definitely follows.
" 2. Both Conclusion (l) and Conclusion (Il) definitely follow.
3. Both Conclusion (I) and Conclusion (ll) definitely do not follow.

4. Only Conclusion (l) definitely follows.

Question ID : 630680112419
Option 1 ID : 630680435387
Option 2 ID : 630680435388
Option 3 ID : 630680435389
Option 4 ID : 630680435386
Status : Not Answered
Chosen Option : --
Q.70 Six students Amit, Dinesh, Neha, Mohan, Radha and Priya are sitting around a circular
table, facing the centre. Radha is sitting to the immediate left of Mohan. Only two
people are sitting between Radha and Dinesh. Amit is sitting second to the right of
Dinesh. Both Dinesh and Mohan are immediate neighbours of Priya. Who is sitting
between Amit and Dinesh when counted from the right of Dinesh?
Ans 1. Priya
w” 2. Neha
3. Radha
4. Mohan
Question ID : 630680207780
Option 11D : 630680805353
Option 2 ID : 630680805352
Option 3 ID : 630680805351
Option 4 ID : 630680805354
Status : Not Answered
Chosen Option : --
Q.71 Looking at a woman sitting next to him, Aayush said, “She is the sister of the husband
of my wife.” How is the woman related to Aayush?
Ans 1. Mother’s sister
2. Brother
3. Mother
" 4. Sister
Question ID : 630680262385
Option 1 ID : 6306801019179
Option 2 ID : 6306801019181
Option 3 ID : 6306801019180
Option 4 ID : 6306801019182
Status : Not Answered
Chosen Option : --
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Q.72 A certain number of people are sitting in a row, facing North. K sits to the extreme left
of the row. L sits third to the left of D. Only four people sit to the right of E. Only seven
people sit between E and L. A sits third to the right of K. Only eight people sit between
K and L. If no other person is sitting in the row, then what is the total number of people

Chosen Option :

seated?
Ans 1.21
2.25
3.23
o 4.22
Question ID : 630680216661
Option 1 ID : 630680840610
Option 2 ID : 630680840608
Option 3 ID : 630680840609
Option 4 ID : 630680840607
Status : Not Answered
Chosen Option : --
Q.73 L is the sister of K. H is the sister of Q. P is the father of K. Q is the mother of L. D is
the father of H. How is H related to K?
Ans  # 1. Mother’s sister
2. Father’s mother
3. Mother
4. Father’s sister
Question ID : 630680209531
Option 1 ID : 630680812293
Option 2 ID : 630680812294
Option 3 ID : 630680812292
Option 4 ID : 630680812291
Status : Not Answered
Chosen Option : --
Q.74 Three statements are given, followed by two conclusions numbered 1 and 2. Assuming
the statements to be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:
1. No clerk is an inspector.
2. Some inspectors are peons.
3. All peons are managers.
Conclusions:
1. Some inspectors are managers.
2. Some peons are clerks.
Ans 1. Only conclusion 2 follows
«" 2. Only conclusion 1 follows
3. Both conclusions 1 and 2 follow
4. Neither conclusion 1 nor conclusion 2 follows
Question ID : 630680172725
Option 1 ID : 630680669303
Option 2 ID : 630680669301
Option 3 ID : 630680669300
Option 4 ID : 630680669302
Status : Not Answered
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Q.75 Rohit watches each of the movies, P, Q, R, S, T, U and V, on a different day of a week,
starting from Monday and ending on Sunday of the same week.
He watches movie P on Sunday. He watches only 3 movies between the days he
watches R and V. He watches Q on the day immediately after R. He watches movie T
exactly in between the days he watches S and U. He never watches U on Thursday.
How many movies does Rohit watch before R?

Ans 1.4
2.3
3.1
4.2

Question ID : 630680274604
Option 1 ID : 6306801066927
Option 2 ID : 6306801066928
Option 3 ID : 6306801066930
Option 4 ID : 6306801066929
Status : Not Answered
Chosen Option : --

Section : English Language Skills and Punjabi Language Skills

Q.76 Select the most appropriate option to fill in the blank.
| do not have extra pencils.

Ans 1. any
2. some
3. many

4. few

Question ID : 630680175872
Option 1 ID : 630680681755
Option 2 ID : 630680681752
Option 3 ID : 630680681753
Option 4 ID : 630680681754
Status : Not Answered

Chosen Option : --

Q.77 Select the most appropriate synonym of the word ‘fortuitous’ to fill in the blank.

It was that he happened to run into his old friend at the airport while they
were both on layover.

Ans 1. great
2. surprising
3. inopportune

" 4. fortunate

Question ID : 630680261422
Option 1 ID : 6306801015384
Option 2 ID : 6306801015385
Option 3 ID : 6306801015386
Option 4 ID : 6306801015383
Status : Not Answered
Chosen Option : --
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Q.78 The following sentence has been split into four segments. Identify the segment that
contains an error.

My mother / is an clerk / and she works / at home as well.

Ans 1. My mother
«” 2.is an clerk
3. at home as well

4. and she works

Question ID : 630680129814
Option 1 ID : 630680502854
Option 2 ID : 630680502855
Option 3 ID : 630680502857
Option 4 ID : 630680502856
Status : Not Answered
Chosen Option : --
Q.79 Select the most appropriate ANTONYM of the underlined word to fill in the blank.
For their business they agreed to work in concord but there was a between
them regarding few policies.
Ans  # 1. discord
2. consonance
3. chime
4. accord
Question ID : 630680167051
Option 1 ID : 630680647066
Option 2 ID : 630680647067
Option 3 ID : 630680647065
Option 4 ID : 630680647064
Status : Not Answered
Chosen Option : --
Q.80 The following sentence has been divided into four segments. Identify the segment that
contains an error in the phrasal verb.
Mr. Vishnu / changed down of / his suit as soon as / he came home.
Ans 1. Mr. Vishnu
2. his suit as soon as
# 3. changed down of
4. he came home.
Question ID : 630680206747
Option 1 1D : 630680801587
Option 2 ID : 630680801589
Option 3 ID : 630680801588
Option 4 ID : 630680801590
Status : Not Answered
Chosen Option : --
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Q.81 “YJyIr=r<l” HEE T MaOH METE -
Ans " 1. Traditionalist
2. Traditionalism
3. Setin Order
4. Pompous
Question ID : 630680320499
Option 1 ID : 6306801246889
Option 2 ID : 6306801246890
Option 3 ID : 6306801246891
Option 4 ID : 6306801246892
Status : Not Answered
Chosen Option : --
Q.82 Select the most appropriate option to arrange the given sentences into a meaningful
paragraph.
A.One major problem that faces the world today is the rapid growth of population,
often referred to as population explosion.
B.Until about 800 AD, the world’s population stayed below 200 million.
C.The rise has been the greatest in the 20th century.
D.Since then it has risen dramatically.
Ans 1.A,C,D,B
2.A,B,C,D
«" 3.A,B,D,C
4.D,C,B,A
Question ID : 630680167301
Option 11D : 630680647971
Option 2 ID : 630680647968
Option 3 ID : 630680647969
Option 4 ID : 630680647970
Status : Not Answered
Chosen Option : --
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Comprehension:

Read the given passage and answer the questions that follow.

Ahem, let me dust off my thesaurus for this one. It appears that the intelligentsia of our
society has adopted an effulgent lexicon in order to obfuscate and perplex the masses.
Indeed, their manner of speech is so turgid and labyrinthine that one might mistake them for a
learned sage, rather than a mere mortal. It seems that the true mark of intelligence is not
one's ability to communicate complex ideas in a clear and concise manner, but rather to
express oneself in a manner so convoluted that one's audience is left scratching their heads
in confusion.

Perhaps, we should all aspire to speak in such a way, so that we too may be regarded as
veritable paragons of intellect and wit. After all, what use is language if it cannot be used to
demonstrate one's superiority over others? Hence, let us all embrace the incomprehensible
and abstruse. For truly, the more obfuscated our language, the more intelligent we appear to
be.

SubQuestion No : 83
Q.83 What is the author's opinion on the use of complex language in communication?

Ans 1. It is a sign of true intelligence
2. It should be used sparingly
" 3. It is a way to show off one's intellect

4. It is necessary but confusing

Option 3 ID

Question ID :
Option 11D :
Option 2 ID :

630680209391
630680811747
630680811749

: 630680811750
Option 4 ID :
Status :

Chosen Option :

630680811748
Not Answered

Comprehension:

Read the given passage and answer the questions that follow.

Ahem, let me dust off my thesaurus for this one. It appears that the intelligentsia of our
society has adopted an effulgent lexicon in order to obfuscate and perplex the masses.
Indeed, their manner of speech is so turgid and labyrinthine that one might mistake them for a
learned sage, rather than a mere mortal. It seems that the true mark of intelligence is not
one's ability to communicate complex ideas in a clear and concise manner, but rather to
express oneself in a manner so convoluted that one's audience is left scratching their heads
in confusion.

Perhaps, we should all aspire to speak in such a way, so that we too may be regarded as
veritable paragons of intellect and wit. After all, what use is language if it cannot be used to
demonstrate one's superiority over others? Hence, let us all embrace the incomprehensible
and abstruse. For truly, the more obfuscated our language, the more intelligent we appear to
be.

SubQuestion No : 84
Q.84 Identify the tone of the passage.

Ans 1. Encouraging
2. Objective
«# 3. Satirical

4. Inquisitive

Option 1 ID

Status

Question ID :

630680209392

: 630680811754
Option 2 ID :
Option 31D :
Option 4 ID :

630680811753
630680811751
630680811752

: Not Answered
Chosen Option :
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Comprehension:

Read the given passage and answer the questions that follow.

Ahem, let me dust off my thesaurus for this one. It appears that the intelligentsia of our
society has adopted an effulgent lexicon in order to obfuscate and perplex the masses.
Indeed, their manner of speech is so turgid and labyrinthine that one might mistake them for a
learned sage, rather than a mere mortal. It seems that the true mark of intelligence is not
one's ability to communicate complex ideas in a clear and concise manner, but rather to
express oneself in a manner so convoluted that one's audience is left scratching their heads
in confusion.

Perhaps, we should all aspire to speak in such a way, so that we too may be regarded as
veritable paragons of intellect and wit. After all, what use is language if it cannot be used to
demonstrate one's superiority over others? Hence, let us all embrace the incomprehensible
and abstruse. For truly, the more obfuscated our language, the more intelligent we appear to
be.

SubQuestion No : 85
Q.85 What is the meaning of the word convoluted?

Ans 1. Precise and lucid expression
w# 2. Extremely complex and difficult to follow
3. Logical and reasonable

4. Intricately ornamented

Question ID : 630680209393
Option 1 ID : 630680811758
Option 2 ID : 630680811757
Option 3 ID : 630680811755
Option 4 ID : 630680811756
Status : Not Answered

Chosen Option : --

Q.86 %{gIa I ® WEE 'Structure’ T YATH g ot 972

Ans 1. 9fd33
2. gorel
3. g
o 4. 9339
Question ID : 630680320503
Option 1 ID : 6306801246908
Option 2 ID : 6306801246907
Option 3 ID : 6306801246905
Option 4 ID : 6306801246906
Status : Not Answered
Chosen Option : --
Q.87 “wiyi feg YgET HIed § YaT 4|
Ans 1.33
2. 334
3. I
o 4. U

Question ID : 630680320502
Option 1 ID : 6306801246902
Option 2 ID : 6306801246904
Option 3 ID : 6306801246903
Option 4 ID : 6306801246901
Status : Not Answered
Chosen Option : --
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Q.88 I fafmt fEd At Hee €t 9 a9
Ans 1. {338

2. T
o 3. fada3
4. WHTH

Question ID : 630680320501
Option 1 ID : 6306801246899
Option 2 ID : 6306801246897
Option 3 ID : 6306801246900
Option 4 ID : 6306801246898
Status : Not Answered
Chosen Option : --

Q.89 ¥g3 Haw ¢l g ¥ mee S 9T 73
AR IHT AT IR -

Ans 1. THAD
2. IS IS

3. 9g-gmHt

o 4. CFTH

Question ID : 630680320505
Option 1 ID : 6306801246916
Option 2 ID : 6306801246915
Option 3 ID : 6306801246913
Option 4 ID : 6306801246914
Status : Not Answered
Chosen Option : --

Q.90 WA fAg 3 *HIRd § YITdl

Ans 1, JYT
2. ygar
o 3. 9IS

4.7

Question ID : 630680320506
Option 1 ID : 6306801246917
Option 2 ID : 6306801246919
Option 3 ID : 6306801246920
Option 4 ID : 6306801246918
Status : Not Answered
Chosen Option : --
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2. Afg3
3. °Agu
o 4. Higgg

Question ID : 630680320504
Option 1 ID : 6306801246912
Option 2 ID : 6306801246910
Option 3 ID : 6306801246911
Option 4 ID : 6306801246909
Status : Not Answered
Chosen Option : --

Q.92 HZ Hoe v fedu - 97t wue fagz 472
Ans 1.€d

2. fnrma
3. Yyd™
4. T8

Question ID : 630680320500
Option 1 ID : 6306801246893
Option 2 ID : 6306801246894
Option 3 ID : 6306801246896
Option 4 ID : 6306801246895
Status : Not Answered
Chosen Option : --

Comprehension:

&3 U9 & Uz 3 Hewt © A= fel|

O fos 23 1 & gt feaa Hie I fa 19 7% & 34 © foms <t Jf 8, 138 31 e aet feaa <t
ot foat <3t J 9t 21 g 39 5t A 83t g

RS feg, 3 2 fam3 g9 WG fead M &, 35 & o Qo ug gt /il A Amer fa Qo 2. a9
T, A 9. B. 9 BB, 33 I a3 famsr otz 7 Ager J1 &5, G 1 feat v fadt saret fa
< o3t =3t At It &t i 9 87 © fom3 = u fead el

H &% st Fafentt nigrad HE wigy T fnrss nifent 3 J9rat It fa 337 fom 3 ufast o §R
o ool 3G &t Ht wirfenr| G, Hi © g3 3 Afentt GAeT fips »ie FHae Hi & &

gy Bt fewt fdersTs © Hiars! fesfamtt w1 €91 99 faar | fog Gre fea 3gi o ¥ yar
| foq =g BH § ftrrm® nirfemr fq g fesa 2ud grdie s, 31 93 fes Bt feiiamii grg
g faa, TH31 &% Jist qae faar, 3 33 fodl fos Aadl 83 o Bt femtfamt © €913 33 fumr
BJ 7S 33 T YdigH g7 A famt 7, u3 H3t Hftfeonrt fug Tt ua3 »ifenm

SubQuestion No : 93
Q.93 W@y T IBYST &1 Hi?
Ans 1. H&A & WHST
2. 3l ydl q9&
o 3. [JeH3®  Farsl fewtant 1 Ta1 adar
4. fa3rg uga

Question ID : 630680320510
Option 1 ID : 6306801246930
Option 2 ID : 6306801246932
Option 3 ID : 6306801246929
Option 4 ID : 6306801246931
Status : Not Answered
Chosen Option : --
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Q.94

Ans

Comprehension:

319 6 Uz 3 Aerst ® Ae™ fefl

©n foa 39 1t & 1 fgad vie I fa W9 &% 7% 31 © fams &t 3fs e, "33 3t fie oeft feag
&l feat <3t 3 91t 21 g 99 &di o Bt A

WA feg, IR R o TR N feda M &, 3 5 & ol Qg ug I /M A Awe fa Qo 2. 79
B2, A 9. 2. 99 BL, 29 I o3 fges otz /1 Aee 1 o8, 89 WG feat Hip fadt &ared fx
% 231 <Ft it f & i fa 87 = fam3 =y feaa dem

Hi &% I Fafentt nEed NG wgu T s wifenn 3 It I8 i 95 fer 3 ufast 9= €F
0 i T8 &t /i wifemi| €, i ® a3 3 Afewi @t s wiGe Hae it < adi

gy Bt fewt fdersTs = st femfamt w1 €91 9g faar it fog @re fea sgi o gz yar dt
HI fest @19 €A § fimrs »ifenn fa 81 feama <o wrdie g6, 31 99 fos By fewrfam ard
yge fagr, ¥Rt o8 it gaw fgT, 3 29 fd fes dadl 83 3 B st 2 €4 3 39 fumr|
@W%@ﬂgﬁmwaﬁwﬁ,mﬁ?wﬁwmzﬁmml

SubQuestion No : 94

3t ot Fa<t Hi?
1. 93 A
2. HS il Ht
3. ud gfd<t #t
o 4. UZC A
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option : --

630680320509
6306801246925
6306801246927
6306801246928
6306801246926
Not Answered

Q.95

Ans

Comprehension:

&3 U9 & Uz 3 At © A fel|

B fos 23 1 & 9t faag Hie 3 fa 19 o7 & 34 © fons <t 9ig 8, 138 31 fae ot feaa <t
&t fost <3t 3 91t 21 g 99 Bt o BFta A

A feg, I IR NS feaa M &, 35 & ol Qg ug I M A e fa Ga #1259
w2, FI 0. 2. 99 B2, 29 < far3 fas otz w1 Herw 1 o, QI WS feat v fadt Zaret fa
% 231 <Ft it f &t i fq 7 < fam3 Ty feaa Je

Hi &1 TS gt wETaa g Mgy T ipts ifien 3 Jaret J¢t i 3@ e 3 ufgst 9 8
0 i € ot /it wifein| €, 1 R a3 3 Afewii @R s wi@e Hee wt < wdl

gy B3 fewt fderss © Hars! fesifent w1 €91 99 faar | fog G e sgi o ¥g yar
I fe @19 8 § fir® »ifenr {3 81 feama <ue wrdie 96, 31 3 fos By fegran ard
g g, TH3 &% 9% 99w fgar, 3 29 fea fos 3adl 83 o 81 fesifawi € €3 3 39 fmr|
8J 7S 33 T YJigH 97 A famt 7, y3 A3t Hftfentt fug Tt ua3 »ifenm

SubQuestion No : 95
Sudaz Hagi feg faA R fam3 g diB it AT It I 2

o 1.3H 2
2.3y ¢
3. MU
4. M e

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option : --

630680320508
6306801246922
6306801246924
6306801246921
6306801246923
Not Answered



https://dailyjobalert.in/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.96 While sending a new email, which of the following fields can be left blank?
Ans 1. TO field only

¥ 2. Both CC and BCC fields
3. BCC field only
4. CC field only

Question ID : 630680320515
Option 1 ID : 6306801246949
Option 2 ID : 6306801246952
Option 3 ID : 6306801246951
Option 4 ID : 6306801246950
Status : Not Answered
Chosen Option : --

Q.97 Which of the given options represents the truthfulness of the following statements?
(i) In an MS-PowerPoint slide, slide number always appears at the bottom.
(ii) More than three images can be inserted in an MS-PowerPoint slide.

Ans 1. (i) — True, (ii) — False
2. (i) - True, (ii) — True

«” 3. () — False, (ii) — True

4. (i) - False, (ii) — False

Question ID : 630680320513
Option 1 ID : 6306801246942
Option 2 ID : 6306801246941
Option 3 ID : 6306801246943
Option 4 ID : 6306801246944
Status : Not Answered
Chosen Option : --

Q.98 Which of the following is relatively fastest memory?
Ans 1. DRAM

2. EEPROM
3. EPROM
o 4. SRAM

Question ID : 630680320511
Option 1 ID : 6306801246934
Option 2 ID : 6306801246936
Option 3 ID : 6306801246935
Option 4 ID : 6306801246933
Status : Not Answered
Chosen Option : --
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Q.99 The TCPI/IP Internet protocol is organized into layers.
Ans 1. Five

2. Seven

3. Six

4. Three

Question ID : 630680320514
Option 1 ID : 6306801246946
Option 2 ID : 6306801246948
Option 3 ID : 6306801246947
Option 4 ID : 6306801246945
Status : Not Answered
Chosen Option : --

Q.100 Which of the following statements related to MS-Word 2021 is false?
(i) A text cannot be underlined with double lines.
(ii) A text can be made bold as well as italic.

Ans 1. Neither (i) nor (ii)
2. Only (ii)
' 3.0nly ()
4. Both (i) and (i)

Question ID : 630680320512
Option 1 ID : 6306801246940
Option 2 ID : 6306801246938
Option 3 ID : 6306801246937
Option 4 ID : 6306801246939
Status : Not Answered
Chosen Option : --

Section : Qualifying Paper of Punjabi Language
Q1 HBeEr Idtg=:
Ans 1. fegran
o 2. QuITm
3. fonraas
4.9

Question ID : 630680320549
Option 1 ID : 6306801247087
Option 2 ID : 6306801247088
Option 3 ID : 6306801247086
Option 4 ID : 6306801247085
Status : Answered
Chosen Option : 2
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Q.2 Wi, fa3rgi v feqegs ot Jeam
Ans g1 Nd, fa3

2. e, fagraret
3. 14, fa3mg
4. Vet fa3me

Question ID : 630680320539
Option 1 ID : 6306801247046
Option 2 ID : 6306801247045
Option 3 ID : 6306801247048
Option 4 ID : 6306801247047
Status : Answered
Chosen Option : 1

Q.3 WE&THE Wyd A FTHE »iyd Th:
Ans 1.9, 4, dl, W
258 TH
3.5,%53,%
4.5,H,Y4,8

Question ID : 630680320544
Option 1 ID : 6306801247067
Option 2 ID : 6306801247068
Option 3 ID : 6306801247065
Option 4 ID : 6306801247066
Status : Answered
Chosen Option : 4

Q.4 fagz wee, 9w A < faA Jtag I< 7 Axy § feaeH ydre a9, €8 faas fdg €t =33
Gk kT
Ans 1.;
2.2

o 3.

Question ID : 630680320537
Option 1 ID : 6306801247040
Option 2 ID : 6306801247037
Option 3 ID : 6306801247038
Option 4 ID : 6306801247039
Status : Answered
Chosen Option : 3
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Q.5 gl fan © HHB 9 Tus o 3 faggr wure <afswr e d:
Ans 1. Ay T g g I 39T
2. Ao 3 feq U, # g 3 fear il
o 3. FEt o1 gzl W e & 3
4. T §3 BT fgga

Question ID : 630680320524
Option 1 ID : 6306801246987
Option 2 ID : 6306801246985
Option 3 ID : 6306801246986
Option 4 ID : 6306801246988
Status : Answered
Chosen Option : 3

Q.6 I3t ygrdt 3 FFEt fad wawt § ot fagr Aear?
Ans 1. fenme

2. 97296
3. yf&ar
4. fersdt fEar

Question ID : 630680320534
Option 1 ID : 6306801247026
Option 2 ID : 6306801247025
Option 3 ID : 6306801247028
Option 4 ID : 6306801247027
Status : Answered
Chosen Option : 1

Q7 Iz oy Trqi fA9 geeed WiaasH nienar € 9 Jd:
Ans 1.8%'?3733'5”537%

2. Afded Hided &8 FaT |
3. Afded HaT J|
4. HdEd A3 &8 IS HF |

Question ID : 630680320558
Option 1 ID : 6306801247122
Option 2 ID : 6306801247124
Option 3 ID : 6306801247121
Option 4 ID : 6306801247123
Status : Answered
Chosen Option : 1

Q.8 HJI3TYds mdfenit § Aarse o8 fmier3g wee fan gu <9 yafs3 Ts:
Ans 1. 181

o 2. Uf&dl
3. g9
4. femzdfgar

Question ID : 630680320533

Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801247021
6306801247022
6306801247024
6306801247023
Answered

3
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Q9 e fdd yarg ¢ Is:
Ans 1.6

2.7
3.3

4.5

Question ID :
Option 11D :
Option 2 ID :

Option 3 ID

630680320550
6306801247089
6306801247091

: 6306801247092
Option 4 ID :
Status :

Chosen Option :

6306801247090
Answered
1

Q.10 Ty TgEr AR T A IR I:
Ans 1. feas fitset

2. It gg&T
3. g9 BT II&
o 4. Ad Bl dg T

Question ID : 630680320520
Option 1 ID : 6306801246969
Option 2 ID : 6306801246972
Option 3 ID : 6306801246971
Option 4 ID : 6306801246970
Status : Answered
Chosen Option : 4
Q.11 w1y v fedul Hee g
Ans 1. H&TST
o 2. UTC
3. gfeer
4. <
Question ID : 630680320518
Option 1 ID : 6306801246962
Option 2 ID : 6306801246963
Option 3 ID : 6306801246961
Option 4 ID : 6306801246964
Status : Answered
Chosen Option : 2
Q.12 Yoy TEd yFsie fda yaa 2 9a:
Ans 1.3
2.4
3.2
4.1
Question ID : 630680320554
Option 1 ID : 6306801247107
Option 2 ID : 6306801247108
Option 3 ID : 6306801247106
Option 4 ID : 6306801247105
Status : Answered
Chosen Option : 3
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Q.13 fHgF HEE yIFsie € de 3 UAdl <ig1 1 § HIS T 94X 99, A uFsie § T
Ans 1. YdY <dd
2. for Tgq
o 3. H9U Tgdq
4. farg Tgq
Question ID : 630680320555
Option 1 ID : 6306801247109
Option 2 ID : 6306801247111
Option 3 ID : 6306801247112
Option 4 ID : 6306801247110
Status : Answered
Chosen Option : 3
Q.14 g5, 3T, FfE3< fan sie ? Gergd< Ia:
Ans 1. SH3 <1dd
2. figE Tq
o 3. IeTHA
4. YA &
Question ID : 630680320552
Option 1 ID : 6306801247100
Option 2 ID : 6306801247099
Option 3 ID : 6306801247097
Option 4 ID : 6306801247098
Status : Answered
Chosen Option : 3
Q.15 et 951 2 fold »iug 95 3 fogi § faatit 2t f&g 2fsur fapar 2
Ans 1.40,7
& 2.357
3.40,5
4.41,8
Question ID : 630680320545
Option 1 ID : 6306801247072
Option 2 ID : 6306801247070
Option 3 ID : 6306801247069
Option 4 ID : 6306801247071
Status : Answered
Chosen Option : 2
Q.16 |t is strictly forbidden to cross the railway tracks. @1 €1 Hdl YA€l mgee g
Ans 1. 3% Ty I8 Ju vy J|
2. I8 Y §3 95 J1
3. 3% U<dl A% W AIR J|
4. 38 T ucdt 3 BuE 73 Ha I
Question ID : 630680320542
Option 1 ID : 6306801247059
Option 2 ID : 6306801247057
Option 3 ID : 6306801247058
Option 4 ID : 6306801247060
Status : Answered
Chosen Option : 4
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Q.17 Hex @ fersd fdar €:

Chosen Option :

Ans 1. FIEE("I":
2. Hedql
3. HEd
o 4. Heddt
Question ID : 630680320532
Option 11D : 6306801247018
Option 2 ID : 6306801247019
Option 3 ID : 6306801247020
Option 4 ID : 6306801247017
Status : Answered
Chosen Option : 4
Q.18 I fau ai fed feman figi €l Adt =a3 e} sa S de aa:
Ans 1. "fuzT 7t 1 o H3 e @me et T
& 2. "TusT A, o e fed gre wiret gty
3. fusrHt §, 3 fed e et i)
4. fuzr 7t W 713 fed e »iret i)
Question ID : 630680320536
Option 1 1D : 6306801247035
Option 2 ID : 6306801247036
Option 3 ID : 6306801247034
Option 4 ID : 6306801247033
Status : Answered
Chosen Option : 2
Q.19 I3 foy AuTi fed eAg TUa sie T e T
Ans 1. I, Yt
2. Uy, fowrs
3. 713, AT
& 4. 7T, 93d
Question ID : 630680320551
Option 1 1D : 6306801247095
Option 2 ID : 6306801247093
Option 3 ID : 6306801247094
Option 4 ID : 6306801247096
Status : Answered
Chosen Option : 4
Q.20 fgg2 AE<l § HS HET 578 1 A MdI3d/ fug3d g ik I&:
Ans 1. T3
2. fafanr
3.dfg3
4. 83Us
Question ID : 630680320527
Option 11D : 6306801246997
Option 2 ID : 6306801246998
Option 3 ID : 6306801247000
Option 4 ID : 6306801246999
Status : Answered

3



https://dailyjobalert.in/
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON

Google Play

Q.21 i, 31, g9, I 7t wee fan fafonr feime 2 Geges 7s:

Ans 1. HeSt ega
o 2. faga Tge
3. Hitpd T d
4, Yddrd <dd
Question ID : 630680320561
Option 1 ID : 6306801247134
Option 2 ID : 6306801247136
Option 3 ID : 6306801247133
Option 4 ID : 6306801247135
Status : Answered
Chosen Option : 2
Q.22 a1 g I yr@er Haved T »ige TR:
Ans o 1. Ul T HJE fearz 2
2. e T dar g 2
3. JAT-Y3IT HY A 2
4. Y T HIJS g1 RS
Question ID : 630680320521
Option 1 ID : 6306801246976
Option 2 ID : 6306801246973
Option 3 ID : 6306801246974
Option 4 ID : 6306801246975
Status : Answered
Chosen Option : 1
Q.23 IH II& @B § F937 W3 fAn €3 o1 otz AR, R § ot faar Aier 3:
Ans 1 I+
2. MdHd
3. HIdHA
4. fafgnr
Question ID : 630680320559
Option 1 ID : 6306801247126
Option 2 ID : 6306801247127
Option 3 ID : 6306801247128
Option 4 ID : 6306801247125
Status : Answered
Chosen Option : 4
Q.24 5T R JT-MIJ< TAS 3 HEE § ol faar Aiwr o
Ans 1. d1dd
2. U3&ie
3. AH™H
o 4. fenme
Question ID : 630680320557
Option 1 ID : 6306801247119
Option 2 ID : 6306801247118
Option 3 ID : 6306801247120
Option 4 ID : 6306801247117
Status : Answered
Chosen Option : 4
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Q.25 fHaR HYua 9= YI& 3 9= MYIs JI<, 8Ft § ot faar Ater 3
Ans g 1 TEHJ

2. HEUH®
3. Hedt
4. "MYda
Question ID : 630680320563
Option 1 ID : 6306801247141
Option 2 ID : 6306801247144
Option 3 ID : 6306801247142
Option 4 ID : 6306801247143
Status : Answered
Chosen Option : 2
Q.26 ?, 9, 3, 3 frd wae fam = Begae Ts:
Ans 1. fenme
2. 9%
3. J1dd
o 4. HEUd
Question ID : 630680320562
Option 1 ID : 6306801247137
Option 2 ID : 6306801247139
Option 3 ID : 6306801247140
Option 4 ID : 6306801247138
Status : Answered

Chosen Option : 4

Q.27 »eq HEE € ANGTIES HYE g3
Ans g1 HE

2. fageg
3. gfta3t
4. WUHTS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680320516
6306801246955
6306801246953
6306801246956
6306801246954
Answered

1

Q.28 fenads © fan Ira1 »its wEe T wftls 3T 7eT J:
Ans p 1 HEEHEY

2. et g
3. T8y
4. %Jg ¥y

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680320548
6306801247081
6306801247084
6306801247082
6306801247083
Answered

1
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Q.29 J5 fo Fet fed feddt waei T de &
Ans 1. At/ W1
o 2. HaQIE / fegar
3.t/ 2H
4. H&H [ FiHET

Question ID : 630680320519
Option 1 ID : 6306801246966
Option 2 ID : 6306801246965
Option 3 ID : 6306801246967
Option 4 ID : 6306801246968
Status : Answered
Chosen Option : 2

Q.30 ;@ﬁm%mﬁ%ﬁawﬁw-%mwmmma%

Ans 1 fom g
2. 3&" fewrfeny
3. THIHA G T
4. e fa fidgr

Question ID : 630680320522
Option 1 ID : 6306801246978
Option 2 ID : 6306801246980
Option 3 ID : 6306801246977
Option 4 ID : 6306801246979
Status : Answered
Chosen Option : 1

Q.31 grayut faut & f4a Bar 3 fad Bamug 7s:
Ans 1.3-3

2.11-6
3.9-2
o 4.10-3

Question ID : 630680320546
Option 1 ID : 6306801247075
Option 2 ID : 6306801247076
Option 3 ID : 6306801247073
Option 4 ID : 6306801247074
Status : Answered
Chosen Option : 4
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Q.32 qret 3 &9 fdahrt ar &1 fiet € =a3 J<t
Ans s 1B
2.TH
3.4dd
4.9&
Question ID : 630680320547
Option 1 ID : 6306801247079
Option 2 ID : 6306801247077
Option 3 ID : 6306801247080
Option 4 ID : 6306801247078
Status : Answered
Chosen Option : 1
Q.33 g &9 faazr »ad3g =afzm fapr 3:
Ans o 1.
2. &7
3.5
4. M5
Question ID : 630680320525
Option 1 ID : 6306801246989
Option 2 ID : 6306801246991
Option 3 ID : 6306801246990
Option 4 ID : 6306801246992
Status : Answered
Chosen Option : 4
Q.34 78 i v foysdt guge:
Ans 1. H33d
2. fen3g
o 3. 7534
4. &I
Question ID : 630680320543
Option 1 ID : 6306801247061
Option 2 ID : 6306801247062
Option 3 ID : 6306801247063
Option 4 ID : 6306801247064
Status : Answered
Chosen Option : 3
Q.35 fagt weet 3 99 3G Tt fafgmret a=<tvi I8, @1 § ot faar AieT 3:
Ans 1. 4%
o 2.T3
3. 83Us
4. 3fg3 HEw
Question ID : 630680320560
Option 1 ID : 6306801247132
Option 2 ID : 6306801247131
Option 3 ID : 6306801247130
Option 4 ID : 6306801247129
Status : Answered
Chosen Option : 1
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Q.36 AHTS »JEl T HETt § ot faar Aer d:
Ans 1. HEUd

2. WA
o 3. IH&IEd
4. fedtt mee

Question ID : 630680320517
Option 1 ID : 6306801246960
Option 2 ID : 6306801246959
Option 3 ID : 6306801246958
Option 4 ID : 6306801246957
Status : Answered
Chosen Option : 3

Q.37 faaR mee fafonr <iqr fdnR g5, @4t § ot faar Aer 3:
Ans 1. U3

2.9y
3.33
o 4. IIE3S

Question ID : 630680320565
Option 1 ID : 6306801247152
Option 2 ID : 6306801247149
Option 3 ID : 6306801247150
Option 4 ID : 6306801247151
Status : Answered
Chosen Option : 4

Q.38 wifgprarg, FBTETY, fd39ara HaTi ? fug3d S 9 9o
Ans 1. Qa9

2. W191g
3.9
4. 99

Question ID : 630680320529
Option 1 ID : 6306801247007
Option 2 ID : 6306801247005
Option 3 ID : 6306801247006
Option 4 ID : 6306801247008
Status : Answered
Chosen Option : 3

Q.39 7% fan feanrs Y et wm ydt J&t &1 fen 8 fan e § <afam wiwr 3
Ans 1.@3”?8793518?@

2. foai (351 &g 35 &
3. fie gae § ygd famg
4. 83fA3daTT

Question ID : 630680320523

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801246981
6306801246983
6306801246982
6306801246984
Answered

2
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Q.40 Volcano HYE T Hal Urst GE) e
Ans 1. TLIIBT

2. Y9
3.0
o 4. B

Question ID : 630680320540
Option 1 ID : 6306801247049
Option 2 ID : 6306801247052
Option 3 ID : 6306801247051
Option 4 ID : 6306801247050
Status : Answered
Chosen Option : 4

Q.41 §3 fid sfaami § yare 996 BE faa fig &t <93 izt wiet o
Ans 1,39

o 2.
3. Yd& feam
4. 738

Question ID : 630680320535
Option 1 ID : 6306801247032
Option 2 ID : 6306801247029
Option 3 ID : 6306801247030
Option 4 ID : 6306801247031
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